
1/5 

Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER–II• EXAMINATION –- 2019 

 

Subject Code:3321901 Date: 06- 06- 2019 

Subject Name: MECHANICAL DRAFTING 

Time: 10:30 AM To 01:30 PM  Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks. 

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 
 

Q.1  Answer any seven out of ten.દશમ ાંથી કોઇપણ સ તન  જવ બ આપો. 14 

 1. Draw symbol of (i) Spot weld (ii) Seam weld  

 ૧. સસમ્બોલ દોરો (1)સીમ વેલ્ડ   (2) સ્પોટ વેલ્ડ  

 2. Draw piping symbol of  (i) Air (ii) Oil  

 ૨. પ ઈપીંગ સસમ્બોલ દોરો (1) એર (2) ઓઈલ  

 3. Draw free hand sketch of Knuckle threadandAcme thread  

 ૩. નકલ થ્રેડ તેમજ એકમે થ્રેડ મ ટે ફ્રી હેન્ડ સ્કેચ દોરો   

 4. Draw the symbols of Globe valve &Safety valve.  

 ૪. ગ્લોબ વ લ્વ અને સેફટી વ લ્વની સાંજ્ઞ  દોરો   

 5. Draw sketch of Union &Coupling  

 ૫. યુસનયન અને કપલીંગની સ્વચ્છ આકૃસત દોરો   

 6. Draw free hand sketch of Eye bolt  

 ૬. આઈ બોલ્ટનો ફ્રી હેન્ડ સ્કેચ દોરો  

 7. Draw free hand sketch of Wing nut  

 ૭. વીંગ નટનો ફ્રી હેન્ડ સ્કેચ દોરો  

 8. Draw symbols for  following pipe fitting 

(1) Reducer (2) Stop cock 
 

 ૮. નીચેન  પ ઈપ ફીટીંગ મ ટ ેસસમ્બોલ દોરો  

(1) રીડ્યુસર (2) સ્ટોપ કોક  

 

 9. Draw sketch of Snap head rivet and Pan head rivet  

 ૯. સ્નેપ હેડ રીવેટ અને પ નહેડ રીવેટનો સ્કેચ દોરો  

 10. Draw the symbols: (a) Straightness (b) Concentricity  

 ૧૦. સાંજ્ઞ  દોરો: (અ) સીધ પણ ાં (બ) સમકેન્રીયત   

    
Q.2 (a) Draw the development of surface for given cylinder with pentagonal holein 

fig.-1 
07 

પ્રશ્ન. ર (અ) પેન્ટ ગોનલ હોલ ધર વત  આકૃસત-૧ મ ાં દશ ાવેલ  સીલીન્ડર મ ટ ેસપ ટીનો સવસ્ત ર દોરો  ૦7 

  OR  

 (a) In figure -2 one square pyramid with side of base 35 mm and height 70mm is 

shown.Draw development of portion –P of pyramid 
07 

 (અ) આકૃસત –૨ મ ાં દશ ાવેલ 35 mm ન ાં પ ય ની બ જુ ન ાં મ પ તેમજ 70 mm ની ઉંચ ઈ ધર વત  

ચોરસ પ્રીઝ મની સપ ટી P નો સવસ્ત ર દોરો  

૦7 

 (b) A right square prism with edge of base 30 mm and height 60 mm rests on one 07 
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of its corner on H.P. with its axis inclined at 45 degree to H.P. If the plan of 

the axis is making angle of 30 degree with V.P. than draw the projections of 

the given prism. 

 (બ) 30 mm પ ય ની બ જુ અને 60mm ની ઉંચ ઈનો એક સનયસમત ચોરસ સપ્રઝમતેન ાં પ ય ન  એક 

ખૂણ  પર H.P.મ ાં પડેલો છે, તેની ધરી H.P.સ થે 45 ડીગ્રી નો ખૂણો બન વ ેછે. જો તેની ધરીનો 

પ્લ ન V.P. સ થે 30 ડીગ્રી નો ખૂણો બન વતો હોય તો આપેલ  ચોરસ સપ્રઝમ ન  પ્રક્ષેપો દોરો. 

૦7 

  OR  

 (b) A pentagonal pyramid having 40mm base sides and 80 mm height is standing 

on the H.P. such that one of its base side is parallel to V.P.  A section plane 

making an angle of 45 degree to H.P and passing through the midpoint of axis 

cuts the pyramid. Draw front view, sectional top view and true shape of the 

section. 

07 

 (બ) એક પાંચકોણીય સપર મીડન ાં  પ ય ની બ જુઓ 40 mm અને ઉંચ ઈ 80 mm છે. તે તેન ાં પ ય ની 

એક બ જુ V.P. ને સમ ાંતર રહે તેમ H.P. ઉપર પડેલો છે. એક છેદક સપ ટી H.P. સ થે 45 ડીગ્રી 

નો ખૂણો બન વતી અને સપર સમડની ધરીન  મધ્યબીન્દુમ ાંથી પસ ર થઈને આ પીર મીડન ેક પે છે. 

તેનો સ મેનો દેખ વ, છેદવ ળો ઉપરનો દેખ વ અને છેદનો ખરો આક ર દોરો. 

૦7 

Q.3 (a) A vertical square prism, base 30 mm side and height 50 mm has a face 

inclined at 45 degree to the V.P. It is completely penetrated by another  

square prism base 25 mm side and axis 70 mm long, faces of which are 

equally inclined to the V. P. The axes of two prisms are parallel to the V.P. 

and bisect each other at right angles. Draw the Projections showing line of 

intersection 

07 

પ્રશ્ન. 3 (અ) એક ઉભો ચોરસ સપ્રઝ્મ જેન  પ ય ની બ જુ 30 mm  અને ઉચ ાંઇ 50 mm છે તેની એક ઉભી 

સપ ટી V.P સ થે 45 ડીગ્રીનો ખૂણો બન વે છે તેન ેએક બીજો ચોરસ સપ્રઝ્મ જેન  પ ય ની બ જુ 

25 mm  અને અક્ષીસ્ 70 mm લાંબ ઇની છે અને જેની બધી ઉભી સપ ટી  V. P. સ થે સરખો 

ખૂણો બન વે છે તે સાંપૂણાપણે છેદે છે. બન્ને સપ્રઝમની ધરીઓ V.P ને સમ ાંતર છે અને પરસ્પર 

ક ટ્ખૂણે દુભ ગે છે તો તેન  પ્રક્ષેપો દોરો અને પ્રસતચ્છેદન  વક્ર દશ ાવો 

 

૦7 

  OR  

 (a) One vertical cylinder with diameter 65 mm is completely penetrated by 

another horizontal cylinder with diameter 40 mm. The axis of horizontal 

cylinder is 40 mm above base of vertical cylinder and 10 mm in front of axis 

of vertical cylinder. Draw curve of intersection of solid 

07 

 (અ) એક 65 mm વ્ય સન  ઉભ  નળ ક રમ ાં 40 mm વ્ય સવ ળો આડો નળ ક ર દ ખલ થ ય છે આડ  

નળ ક રની ધરીઉભ  નળ ક રન  પ ય થી 40 mm ઉપર છે અન ેતેની ધરીથી 10 mm આગળ છે. 

બાંને નળ ક ર વચ્ચેની સવચ્છેદન રેખ  દોરો  

07 

 (b) One cone having diameter of base 70 mm and height of axis 90 mm is 

standing on H.P. It is penetrated by cylinder having diameter of base 50 mm 

The axis of cylinder is parallel and10 mm away from axis of cone. Draw 

curve of intersection of two solids. The plane containing two axis is parallelto 

V.P 

07 

 (બ) 7૦ mm પ ય નો વ્ય સ અને 90 mm ધરીવ ળોશાંકુ તેન ાં પ ય  પર ઉભો છે તેન ેએક નળ ક ર 

જેન  પ ય નો વ્ય સ 50 mm છે તે છેડે છે. શાંકુ અને નળ ક રની ધરીઓ પરસ્પરન ેસમ ાંતર છે. 

નળ ક રની ધરી શાંકુનીધરી થી 10 mm દુર છે. પ્રસતચ્છેદનો વક્ર દશ ાવત  પ્રક્ષેપો દોરો. બાંને ઘનની 

ધરીઓને સમ વતુાં પ્લને V.P. ને સમ ાંતર ર ખો. 

07 

  OR  

 (b) A vertical cone diameter of base 50 mm and axis height 70 mm is penetrated 

by 30mm diameter cylinder in such a way that its axis bisects axis of cone. 

Axis of cylinder is parallel to V.P. Draw the Projections showing curves of 

intersection. 

07 

 (બ) 50 mm પ ય નો વ્ય સ 70mm ધરીની લાંબ ઈન ાં એક ઊભ શાંક ુ ને 30 mm વ્ય સનો નળ ક ર 07 
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એવી રીતે છેદે છે કે નળ ક રની ધરી શાંકુની ધરીને ક ટખૂણે દુભ ગે છે. નળ ક રની ધરી V.P. ને 

સમ ાંતર છે. તો તેન  પ્રસતચ્છેદન  વક્ર દશ ાવત   પ્રક્ષેપો દોરો. 
    

Q.4 (a) Draw following for object shown in fig. – 3 using  Third angle projection 

method 

(1) Front view looking from direction –X 

(2) Right hand side view 

07 

પ્રશ્ન. ૪ (અ) આકૃસત-૩ મ ાં દશ ાવેલન ાં નીચેન  તૃસતયકોણીય પ્રક્ષેપણની રીતેનીચેન દેખ વ દોરો 

(1) સ મે નો દેખ વ- તીર –X  ની દદશ મ ાં  

(2)  જમણી બ જુનો દેખ વ 

૦7 

  OR  

 (a) Draw following for object shown in fig. – 4 using  Third angle projection 

method 

(3) Front view looking from direction –X 

(4) Right hand side view 

07 

 (અ) આકૃસત-4 મ ાં દશ ાવેલન ાં નીચેન  તૃસતયકોણીય પ્રક્ષેપણની રીતેનીચેન દેખ વ દોરો 

(1) સ મે નો દેખ વ- તીર –X  ની દદશ મ ાં  

(2)  જમણી બ જુનો દેખ વ 

૦7 

 (b) Figure- 5 shows orthographic views of an object. Draw it's following views. 

Use 1st Angle Projection Method. 

(1) Sectional Front View looking in direction of arrow A-A 

(2) Sectional side view looking in direction of arrow B-B 

 

07 

 (બ) આકૃસત-5મ ાં એક વસ્તુન  ઓથોગ્ર ફીક દેખ વો દશ ાવેલ છે પ્રથમ કોણીય પ્રક્ષેપણની રીતે નીચેન  

દેખ વો  

૧) છેદ ત્મક સ મે નો દેખ વ છેદ A-A ની દદશ મ ાં 

૨) છેદ ત્મક બ જુનો નો દેખ વ છેદ B-B  ની દદશ મ ાં 

 

07 

    
Q.5 (a) Fig- 6 shows Detailed drawing of foot step bearing. Draw its assembly 

drawing  with  following views  

(1) Sectional Front View 

(2) Top View   

also show part list 

10 

પ્રશ્ન. ૫ (અ) આકૃસત-6 મ ાં ફુટ-સ્ટેપ બેરીંગન ુડીટેઇલ્ડ ડ્રોઇંગ દશ ાવેલ છે. તેન ુએસેમ્્લી ડ્રોઇંગ નીચેન  દેખ વ 

સ થે દોરો અન ેપ ટા લીસ્ટ બન વો 

(1) છેદ ત્મક સ મે નો દેખ વ  

(2) ઉપરનો દેખ વ 

10 

 (b) Draw surface roughness symbol for following  

I. Roughness value = 3.2 micron  

II. Production method = Grind 

III. Sampling length = 90 mm  

IV. Machining allowance = 2.5 mm  

V. Type of Lay = cross 

 

04 

 (બ) આપેલ સવગતો પરથી સરફસે રફ્નસે સાંજ્ઞ  દોરો  

1 રફ્નેસ વેલ્યુ = 3.2 મ ઈક્રોન 

2. પ્રોડક્શન મેથોડ= ગ્ર ઇન્ડ 

૩. સેમ્પલીંગ લેન્થ =90 mm 

4.મશીનીંગ એલ ઉન્સ =2.5 mm  

5. લે નો પ્રક ર = ક્રોસ  

04 
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Figure 1 Q. 2 (A)  

 

Figure 2 Q. 2 (A) OR 

 
Figure 4 Q. 4 (A) OR  

 

Figure 3 Q. 4 (A)  

 



5/5 

 

 

 

 

  

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

*********** 

 

 

Figure 5 Q. 4 (B)    

 

Figure 6 Q. 5 (A)    

 


